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312
RcdUc/dt + Uc(t)=0 —
a dUc/dt +Uc (t) =0
0,5 e e o =RC=t :
a =1 =RC= (V/A). (A)(S)/V =S
0 S o
O InUc = -At+B
InUc = InE-t/t :
A A=1/t:
0,5 e, =1/A=20ms  A=5.10
0,5 ettt ettt C=1/R=2pF :
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0,5......= t=0 InE=InUe= 1,5 E=e'’ =448V
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L n AXO1
L,
AE =-17,585 Mev
°H 2
L ‘HoH+ % -
7\,:&:5,6.1072311571 -
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( 4.5):
-1
| [ NH; o + H,O0 = NH; , + OH
0,5.......0 1 =[NH; 74 / [NH3]p =10°"*""D /0,1 =0,0125 -2
0,5+ e, NH;, 1, <1
CiVi=C V, V1=CV,/C -3
0,5 e V,=2,5.107.100/ 0,1 =25ml
| I V2 =100ml S, Vi
0,50cunnn. Ty =X ¢/ Xmax = [OH]/C, =101%1"% /25 107=0,025 - -4
0,5 et -
( 45):
1
0.5 V,=Veq=20ml :
0.5 ettt e e C,V,=1,0.10"Veq
L, C,V,=1.10220.10" =20.10 mol
| H,O ,Na",Cl™ : 2
NaCl 3
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